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Topic:- Grad_Nutrition and Health

1) Water soluble vitamin is?/5d@ # ga-=iia faerfiq 82
1. Vitamin - C/faetff= - C
2. Vitamin - D/fdeTf#= - D
3. Vitamin - A/fdeTf= - A
4. Vitamin - E/faeTfi -

m

Correct Answer :-

e Vitamin - C/fdei®= - C

2) Which facilities are provided through anganwadi centers?/ GHTHH'@ Fl & AremH q B {
e & et 32

1. Health checkup / WY SF

2. Primary vaccination / Urdfiie SlepTamrur
3. Supplementary Food / YR TIN0T 38R
4. All of these/ IURIe THT

Correct Answer :-

e All of these/ IURNad g+

3) Hepatitis disease affects which part of human beings:/%'a?l?{ﬁﬂﬁ'ﬂ HIY & ﬁ?l;f 3T B
grfaured v &:

1. Liver/dod
2. Lungs/a'o—tb%



3. Kidney/qa
4. Heart/gad

Correct Answer :-

o Liver/ded

4) Protein is not found

1. In Blood/3a

2.In Lymph/?lﬁlﬁff

3. In protoplasm/®IfReT G H
4. In Bilejuice/fURa o

Correct Answer :-

« In Bilejuice/f0Ry &

5) Which harmone is responsible for changes in breasts during pregnancy?/ TyfawT & ERE
T 1 uitadq & o i a1 g SwRer! 82

1. Godedotropin/THeIcIth-1

2. Progesteroneflilﬁgﬂ

3. Overian/3Maf@a

4. None of these/ I7H ¥ ®Is g1

Correct Answer :-

« Progesterone/HoRgH

6) Which of the following vaccines is given to pregnant women?/fAa & q o1 A A= mfad
Higer &1 § ot 82

1. O.P.v./3N .44
2. D.P.T./3LULE.
3. Tetanus/feeTg

4. None of these / 378 T 13 gl

Correct Answer :-

. Tetanus/iéé:lﬂ

7) Vitamin known as 'Tecopherol’ is: [V APTHIA & A A AT 9 arern ferfem &
1. Vitamin - E/fdeTfe - E



2. Vitamin - D/fdef@= - D
3. Vitamin - ¢/fdef= - C
4, Vitamin - A /[deTfi= - A

Correct Answer :-

e Vitamin - E/ﬁETmtr -E

8) CANCELLED

Objective of 'Bal shakti yojna' is:/URaR &0l HTAHH BT BT 3¢)Y &:
1. Promote sports/@?l@ Cal deldl o

2. Population control/STEReAT =0T

3. First Aid/9Tdffie TR

4. Severe Malnutrition Control/T{R AU TR FE=0T

Correct Answer :-

« Severe Malnutrition Control/Ti*fR FUIwur tR fAd=0r

9) The weight of the woman increases, during pregnancy is-/q:Uf THiGRT & 'cﬁ?'F-I Higen & g A

i St &:

1. 25 Kg/25 foar
2. 20 Kg /20 foar
3. 12 Kg /12 o

4. 18 Kg/18 fabum

Correct Answer :-

. 12 Kg /12 fooom

10) Girls require iron in Adolescence: -/%sﬁmw H grfarerai ?‘g’ SR Bt TaLgHdl ﬁ?ﬁ %:
1. 40 - 45 Mg. Per day/ 40 - 45 Mg. Ufdfe
2. 28 - 30 Mg. Per day/28 - 30 Mg. Hfdfa
3. 10 - 15 Mg. Per day/10 - 15 Mg. Ufdfa

4. 50 - 55 Mg. Per day /50 - 55 Mg. Ufdfe

Correct Answer :-

« 28 - 30 Mg. Per day/28 - 30 Mg. Hfdfa



The National Blindness control program was launched in M.P. in collaboration with: /H.. 'Bf?Tg’RT

TSEA = srfey frad JeaT 3 9amr T @:
1. World Bank/fdy §%

2. WHO/fd% g Tia

3. Central /&%

4. None of these / ST8 § BIS gt

Correct Answer :-

* World Bank[ﬁ%%

12) The main reason of malnutrition in India is-/ YRd d ?Cﬁ'lTUT DT BT SR -
1. Population Growth/S-ERe gl

2. Illiteracy/ 3T

3. Poverty/TIﬁEﬂ

4. All of these/JURIG FHT

Correct Answer :-

o All of these/SWRIgd Tt

13) Who discovered the vaccine of Chicken pox?/39® &1 ¢ld &1 @il fba &t di?
1. Robert coach / &8¢ ®ig
2. Phenet / T

3. Makluan / BgeH
4, Edavard Jenar / QSH@ SR

Correct Answer :-

o Edavard Jenar / QSTK%: SR

14) What is the full form of AIDS?/ (AIDS) T YT ATH %:

1. Acquired immune deficiency syndrome/QEO‘RTs; sﬂfﬁ SthRE= ﬁl@ﬂ
2. Acquired immune disease symptoms/U&Tae SR fesiiel RiqeH

3. Auto immune deficiency syndrome/3fTet SR Wﬁ@ﬁ

4. Anti-immune deficiency syndrome/TUct SHA SRR ﬁlf_@ﬂ

Correct Answer :-

« Acquired immune deficiency syndrome/T&TIe SR SR RigH



15) People living in cold climatic states require energy: / dst Sedrg T weRM o ¥EH
T RN A St B STITGDBT gl &

1. More/3ffd&®
2. Less/dH

3. Normal/dHg

4. None of these/ s:n?r I ﬁ'&f EE

Correct Answer :-

« More/3fd%

16) Iodine deficiency disease in children is:/GﬂTﬁ@’Fr P HH A ITADT A g ad INT %
1. Scurvy/@lﬁ"f

2. Cratinism/\3fl?<:<c 3 3R

3. Pallagra/UaRn

4. Beri-Beri/sRIeRl

Correct Answer :-

. Cratinism/\%i?g;aﬁ 3HER

17) The polio virus affects the child's system most-/ WA &7 aRRY 7= & fHA &7 H Faifte
THIfad BT 2-

1. The nervous systemﬁﬁaﬁ GBS
2. Digestive system/dra- o
3. Respiratory System/4T= da

4. Circulatory system/dRag= o=

Correct Answer :-

« The nervous system/dA&T a3

18) The rates of BMI in women compared to men is: / igare @t Uy Ta=g Bt &) g?aw‘raﬁ
qa-T 8

1. Ts more/3ifd gt ¥

2. Is less/®H Bicit §

3. Equals/aRTeR 811 3

4. None of these/ 378 ¥ ®I5 g

Correct Answer :-

o Isless/dH Eﬁ?ﬁ%



19) For confirmation of pregnancy is checked. / THITRT B gi% %‘g’ CARC |
P Wt @

1. Urine/TA &1
2. Blood/3ad &1

3. Saliva/dR &1
4. None of these/ 3:1'13[ T ﬁ'&; :Iﬁ

Correct Answer :-

o Urine/T &1

20) Complete pregnancy period is-/ QUi TyfawaT #} 3rafyr gt &:
1. 295 Days/295 fad
2. 280 Days/280 f&=1
3. 288 Days/288 fa=

4. 290 Days/290 f&a

Correct Answer :-

« 280 Days/280 fa=1

21) Pregnant woman should have good for full development of the fetus./ MRy ﬁl‘{[ &
quf fawra & ford fadht it &1 HieH BT TR

1. High protein rich/3= WicH gad

2. High calcium rich/3= Hicxraw gad
3. Both of the above/ LRGSR

4. None of these K{Clﬂaﬁ A @[H’ﬂ'ﬁc:l'e?f

Correct Answer :-

« Both of the above/ SWRIgd gHl

22) How many gram of cereals is required for a simple working pregnant woman? /U dIIRUT

forariia mifad Wi &) fraa 9w srTe B sazgwdr wfafe €t @
1. 400 gram/400 91H
2. 800 gram/800 UH
3. 600 gram/600 UH

4. 700 gram/700 U™H

Correct Answer :-



» 400 gram/400 JH

23) The cause of Tetanus disease is-/ a9 I F1 PR B-
1. Diphtheria bacilli/f$uifar sfyamg

2. Vibrio Calorie/fdfsidl et

3. Chostridium tetani/FIRE TSTH <At

4. None of these/37H I Bls o1

Correct Answer :-

« Chostridium tetani/FREISTH el

24) is the international unit of measuring Energy. / Sell AU P GI?ITI@TI sﬂv‘lﬁ %
1. Calorie /ﬁﬂ

2. Jule/S[et

3. Watt/dIc
4. Kilowatt/f&aare

Correct Answer :-

o Jule/S[d

25) To perfect against perniuous Anaemia, which food is necessary to take in pregnancy:/

uififRrs THfET (Pernicious Anaemia) ¥ 19 3q THiGRIT # HISH A AT ST ©:
1. Vitamin - B12/fdeTf# - B12

2. Vitamin - D /fdeTf# - D

3. Vitamin - K/fdeTfee - K

4. None of these/ 378 ¥ ®I5 g

Correct Answer :-

« Vitamin - B12/fdeIf®A - B12

26) What pregnant woman should take to fulfill calcium requirement?/ Tad afgen & Hikmaw
P TIRTPHar B1 Yfd 8q FT AT ARW?

1. Milk and milk products/g¥ @1 g4 ¥ & Terf
2. Cabbage/darmit

3. Egg/3fST

4. All of these/ITRIa Tt



Correct Answer :-

o All of these/SWRIgd Tt

27) Which part of the body is affected by Jaundice?/WfmaT a9s & IR & 6 371 ot yuIfaa
HRa1 82

1. Liver/a&d
2. Kidneys/‘ﬁ
3. Heart/gad
4, Brain/m

Correct Answer :-

28) National Filaria Elimination program is launched in:/?Tfl’lT TFIEﬁﬁ'QT A PHTAHH H URY
forar T

1. 1963
2. 1958
3. 1962

4. 1955

Correct Answer :-

e 1955

29) The main objective of family welfare is:/URAR HeTor PHTAHH BT q81 B%'SRT %:
1. Rural health service/‘IIIﬁUT WY JdT

2. Population control/STEREAT Fa=0T

3. Increase in Income/3Td A q@

4. None of these/ 3:113[ q @é B

Correct Answer :-

« Population control/SFRReAT AT

30) Meaning of malnutrition is -/ FuIaur &7 37 ghar 8-
1. Over nutrition/Siﬁ o

2. Under nutrition/3fed o

3. Both of the above/JWRIad GHI



4. None of these/ Fl’ff I ﬁﬁ gl

Correct Answer :-

« Both of the above/IURIad GHl

31) The power of fighting the diseases in the body is called: JRRR TIM A FIS‘;} P xfad B Fed
&

1. Immunity power/RT UfRIYE &
2. Disinfection/f: dgpHUT

3. Both of the above/milﬁ Ml

4. None of these/ Fl’ff I ﬁﬁ gl

Correct Answer :-

« Immunity power/RITT URRIY® &l

32) When does the child get measles vaccine?/HIoied &1 a1 JTa® P HF Tl %?
1. In 5 Month/5 ¥
2. In 3 Month/3 \Ig #
3. In 9 Month/9 HIg 2|

4. In 4 Month/4 AT |

Correct Answer :-

« In9 Month/9 ATlg §

33) CANCELLED

In which year the Government of India initiated programs at the National level to remove

blindness?/ 34U P G HI og HRA WPR 7 AP TR W S forg af yRH fpar?
1. 1970
2. 1985
3. 1990

4. 1975

Correct Answer :-

« 1970

34) The age of 0 to 1 year is called: /57 ¥ AHT TP T8 aP B! AT FIT HgaATd 8:

1. Childhood/dTcdTd&1



2. Infancy/?a‘-ﬂﬁlﬁw
3. Adolescence/ﬁv’@w
4. None of these/ sﬂﬁ I ﬁé T8l

Correct Answer :-

» Infa ncy/@?ﬁﬂﬂ@ﬂ

35) CANCELLED

Mid-day meal program was started by the Indian Government in the year:/ ¥pd AR e
FRIHH B IR YR PR GRT LEREIRIER

1. 1961
2.1999
3. 1990

4. 1992

Correct Answer :-

e 1961

36) According to ICMR, how much extra energy is required for women during pregnancy: /ICMR

F IR TUTTR & IR Aftensi &1 fHa-t sifafived St @1 srazaw g &:
1. 300 Calories per day/300 Har wfafea

2. 800 Calories per day/800 @RI Ufafes

3. 1000 Calories per day/1000 Far ufafe

4. 600 Calories per day/600 HaR ufafe

Correct Answer :-

« 300 Calories per day/300 SR} ufafeT

37) Micro nutrients is:/ATSh! T<H (J&H NS ) &
1. Potassium/aefRaH

2. Phosphorus/tb‘wﬁw

3. Calcium/feRraH

4. Tron/3MRA (A1)

Correct Answer :-

« Iron/3MRA (18N



38) Which disease has not yet been vaccinated?/ g Furst &1 der enht 9o T8 a1 %?
1. Aids/usd

2. Tetanus/ﬁ%tm

3. Diptheriaf%mﬁﬂm

4. Hooping-cough/@Tel Wit

Correct Answer :-

. Aids/TSH

39) ‘Tuberculin’ is effective from which disease:/ ‘eaRaf’ fh I & yUEGHR 2:
1. Leprosy/P¥ AT

2. Dengue/ST]

3. Tuberculosis/dufde®

4. Polio/diferar

Correct Answer :-

. Tuberculosisﬁlﬂm

40) The diet for 0 to 4 month baby's should be -/ | TR HIg d% & I $1 T R g1 ATRT:
1. Solid food/31g 3ER
2. Semi solid food/31g, 31 3R

3. Supplements/qR& AHER
4. Mother milk/HT &7 gY

Correct Answer :-

« Mother milk/HT &1 gY

41) Prevention of T.B. can be prevented by-/ .91, 1 wufe AsU™ ot o1 IHat %—
1. B.C.G. vaccine/ EIRASIAGEIG]

2. M.T.D/EA.SL.&

3. DOTS/3ICH

4. None of these/3TH  ®IS 751

Correct Answer :-

« B.C.G. vaccine/ o315 9=



42) In which year Kindergarten Nutrition Program was started by the social welfare

department?/STAAIS! TIWUT HTRIHH 1 IR=3ATA THTS HedT0l fTUTT gRT fa af &t 75 Az
1. 1998
2. 1988
3. 1977

4. 1970

Correct Answer :-

« 1970

43) Polio is called in the language of medical science as:/ qiferat & fifee o= &t o o T
FT oIl 8

1. Polio Myelitis/Tiferal AR
2. Polio Canreg/ﬁ]%@ HAS
3. Polio Scholar/@ferdt IH R

4. Polio Sputum[lim%ﬁff IRH

Correct Answer :-

« Polio Myelitis/afera A

44) Which part of the body is affected most in Typhoid?/ SRIBTAS H TR &1 S A1 [T Jaifees

qHTfAd et 82
1. Lungs/ ﬁ?qfs
2. Heart/ §ad

3. Liver/ g&d
4. Intestines/ 3fid

Correct Answer :-

e Intestines/ 3fid

45) The vaccine of B.C.G. used to protect against which disease-/ 1.5 &1 der fFa AT |
919 & fore amar i @8-

1. Cancer/W
2. Cholera/%\_rﬂ
3. Polio/diferat
4. Tuberculosis/&TRNT (ﬂﬂﬁ)

Correct Answer :-



« Tuberculosis/&aNT (Ha%)

46) When body temperature increases, metabolic rate:/ YRR BT dUHH (dER) Eﬁ R Y™
Cdl [(TH

1. Increases/dgdl &

2. Decreases/dcdl §

3. No Change/d@1s R gl

4. Ever decreasing ever increasing/@t geat g, B 9gdt ®

Correct Answer :-

« Increases/dgal @

47) Which vaccine is given to the child at age of two and a half month?/ aé g 31 S | QTE{[ G|
DI T EBT AT Sl 82

1. Second vaccine of D.P.T./S1.M.&. &1 fgdta dr
2. First vaccine of D.P.T./S.41.21. &1 uyH a1

3. Vaccine of Measle/3RT &1 il
4. None of these/ 378 q ®Is Tal

Correct Answer :-

« Second vaccine of D.P.T./S1.41.2%. &1 fgdia i1

48) What age measles disease affects more?/@IRT A7 {5 g oif w1 Halfte yurfaa wwar 82
1. 6 month to 3 years/ 6 e 93 ay

2.0 to 6 month /0 ¥ 6 HlE

3.0to5years /0§ 5TY

4. 6 month to 1 years /6 Tﬂ's’@{ 19y

Correct Answer :-

« 6 month to 3 years/ 6141'6’@ 3 9%

49) What nutrients excess should be in the lactating mother's diet?/ 4 AT F WA A P A
UIy® dcd @1 Sftmar gl anfge?

1. Calciumlm

2. Protein/l;ﬁ?ﬁ:[

3. Both of the above/ SWRIad gHl
4. None of these/3TH ¥ ®Is gl



Correct Answer :-

« Both of the above/ SWRIgd gl

50) Vitamin A supplements are given to the child for:/m?lﬂ'ﬁ' #! faerff= ‘T @t IRTP & St %—
1. For the protection of eyes./ 37l &1 qra & ford

2. For Growth and Development / ?{@ faerg & ford

3. For the strength of bones/ 3@&[ Eal HTrIT{cﬂ & forr

4. None of these / S8 I ®13 Ta!

Correct Answer :-

« For the protection of eyes./ 3Rl &1 Y& & ford

51) Protein originates from the word proteus is word of language:/ WI¢IH @t Iy
WS (Proteos) Xeg A gt 81 Wtmy YTYT FT I 3

1. French/ﬁ'o_t[

2. Greek/if@
3. English/3Ust
4. Japani/STar

Correct Answer :-

 Greek/Ii®

52) __ is beneficial to the ICDS-/_______ 9#fed a1a faery uRaismT (ICDs) & fgaume! &
1. Pregnant mother/"lﬂ-fa_cﬁ ARt

2. Lactating Mothers/4TT AT

3. Pre-School Student/¥h d Uﬁ EJE]

4. All of the above/ItRIad It

Correct Answer :-

« All of the above/SWRIad HT

53) When a person's activity increases. The quantity of protein will:/ fF<f} safaad &1 fram=fiaar
e W WIdH & 9E:

1. Increases/a@?ﬁ %

2. Decreases/‘EIE_cﬁ %
3. Remains Constant/fRR g4t §



4. None of these/ Fl’ff I ﬁﬁ gl

Correct Answer :-

« Remains Constant/fRR Igdl &

54) The first phase of the pulse polio campaign was started in:/ U1 qiferat ST &1 Wyw TRoT
B YRY g3 YT:

1. May 1994/7% 1994
2. May 1996/H% 1996
3. December 1994/fGHaR 1994

4, December 1995/f¢TaR 1995

Correct Answer :-

« December 1995/f@TsR 1995

55) Applied Nutrition program was started in which state first? / AGIN® NUTER CJUER
(Applied) @ IR=3ATd FauyH 6 Isa H gdi-

1. Orissa/ISIT

2. Uttar Pradesh/3TR Ue=T

3. Bihar/fogR

4. Madhya Pradesh/H¢g Uel

Correct Answer :-

. Orissa/Bé R8

Topic:- Grad_General Knowledge and Logical Ability

1) A student’s marks were wrongly entered as 93 instead of 39. Due to that,
the average marks for the class got increased by 1. Find the number of
students in the class./ & B &1 3@ Tadl A 39 & I¢ad 93 3ifdpa g1 w1, forad awrg
T U F&T BT 3T 3P 1 | ¢ T HeT | ST B I=T T He |

1. 27
2. 26
3.45

4. 54

Correct Answer :-

. 54



2) How many squares are there in the given figure? / EﬂTlg mﬁ I B F=T
forast g2

2.12
3.10

4.8

Correct Answer :-

3) What was “AttaVista” / “3fgIfa¥er” U
1. E-mail/ §-0d

2. Virus/ dIO{

3. Hardware/ gTSaaR

4. Search Engine/ 9 o1

Correct Answer :-

« Search Engine/ Id 354

4) Excessive consumption of ethanol causes damage to the:/ Eﬁl’*ﬁﬁ P 3P Ja- {5 3 Bt
WIS ST &

1. Kidneys/ ddh
2. Lungs / ﬁ?q%
3. Heart/ gad
4. Liver/ o d

Correct Answer :-

e Liver/ ddd

5) In MS-Access to open new database used:/MS-Access H =41 STl 99 Wad

1. CTRL+N



2. CTRL+O

3. ALT+F4

4. None of these/378 ¥ &I Tl

Correct Answer :-

« CTRL+N

6) In a certain code language if '‘Rose’ is called ‘Sun-Flower',' Sun-Flower’ is
called ‘Sakura’, ‘Sakura’ is called ‘Peony’, ‘Peony’ is called ‘Lotus’ and ‘Lotus
is called ‘Marigold’, then which will be national flower of India?/ ‘qﬁ{"ﬂﬁﬁ' 3|

RO, PET AT 8, "GROYEN’ B S gl ATd1 ¢, TP’ DI “U3AH", HeT W1l §,
U3 B HHA BT AT 8 3NR SHA’ DI TGl el oITdT 3 a1 YIRd BT ST 67 HI I
2

1. Sakura/d o0

2. Peony/ﬁaﬁ'rﬁ
3. Marigold/ﬁET

14

4. Lotus/HA

Correct Answer :-

. Marigold/ﬂ'ﬂT

7) Which of the answer figures is exactly the mirror image of the given

figure when the mirror is held at PQ? / g & & #19 Wt SwR smopfa <t i} wy smpfar
3t g gdur yfafare gt 519 gdur & PQ WR ¥@T T 82

Question Figure: /q9a JrpfA:
P

)

Answer Figures. / 3eaz Jrepforat ;

D | D DD

A B Cc D

1L.A
2.B
3.C

4.D

Correct Answer :-

e A



8) Which of the following diagram shows the students who learn Law and
Music, Music and Dance and who learn Law, Music and Dance?/T-ﬁ%rﬁ'ETlt{
Y@rfEt # S-91 Yare i faenfiay @) gwitar @ o) & ok Iifta e €, Ifta ok
I WEd § 3R St ST, T 3R o o= diaa 82

&
.00
&

,©

Correct Answer :-

9) Since which year has the Sarva Shiksha Abhiyan been operational? /
&t ST FAE a9 | FATAAT 52

1. 2000-01
2.2001-02
3.2002-03
4. 2003-04

Correct Answer :-
« 2000-01

10) DIRECTIONS: Select the answer figure in which the question figure is

embedded./ f3%1: a8 IR 3pfa F1a HoR Rorad uy snpfa fafea 21



Question Figure / T9a1 BT

Answer Figures / Jcaz AT faam

%

W ] (&) ]

1L.A
2.B
3.C

4.D

Correct Answer :-
e C

11) To see the effect of Motion Path with the Custom Animation Task Pane

you must /HECH TAATE P U9 A HIRF U9 &7 Shae ¢+ & fod 3!
W‘-IT@TIT:

1. Click the Show Effect button/ T 3thde s &I faa®d
2. Double click on Motion Path/ HIRM UTY &I S9d fadd

3. Click Play Button/ & §¢- &I faa®
4. None of these/ 378 4 &g gl

Correct Answer :-

« Click the Show Effect button/ Tl Sthac §cd &I fddd

12) At least how many persons belonging to the Scheduled Castes and
Scheduled Tribes must be members of the National Commission for Women?

/ TE AT AANT F G H FH 4 FH Fohaq safxe stqgl=ra STt At sy =a Sesia 8 g fad
B AT(RT?

1.1
2.2
3.3

4.4

Correct Answer :-

e 1



13) If the simple interest on a sum at 5% per annum for 3 years is Rs.1,200.
Find the compound interest on the same sum for the same time and at the
same rate of interest./ (¢ 5% a1fi¥e sarel @1 g3 | fordft gaem &1 3 oo # Fremor
TS ¥4 1,200 8, I FHTH AU W G 4TS @1 &% N JHTH 99 & e whgfs s
B MUET PO

1.Rs.1,361/%. 1,361
2. Rs.1,240/%. 1,240
3.Rs.1,261/%. 1,261

4. Rs.1,440/%. 1,440

Correct Answer :-

« Rs.1,261/%. 1,261

14) A protein hormone is-/ T W giH 8-
1. Epinephrine/@ﬁ?b—lg:f

2. Androgen/ Q'U@a:f

3. Progesterone/ TR

4. THS/ UTSRICU®

Correct Answer :-

. THS/ YIS UH

15) DIRECTIONS: Choose the missing terms out of the given alternatives./
frd=m: fou e faeedl & @ qu vel &1 319 B9 |

d n_ _  nndm_n

1. ndmnm

2. mdnmn

3. mndmn
4, dmnnm
Correct Answer :-
« mndmn

16) The Right to Property is a Constitutional Right under the Article - / =9
AToE & AqUT GUIRT T TR T GALTIAF ATAHTL 872




1.295 A
2.298 A
3.300 A
4.302 A

Correct Answer :-

« 300A

17) Who was the Chairman of the first National Commission for Scheduled
Tribes? / FETH AT SIAATIA ST F eqel 19 9?2

1. Kunwar Singh / Fax &g

2. Lama Lobjang / &THT SrasiT

3. Prem Bai Mandvi / 3% aTE A=t
4. Tapir Gao / ardie T

Correct Answer :-

« Kunwar Singh / Fa¥ &g

18) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fardr: frafafaa vy o uyaras s ) & R
TR THI DI AT A T2

/5456 , V2120 . v460 _ ?

1.110
2.130
3.159

4. 190

Correct Answer :-

« 159

19) Two numbers are in ratio of 4:5 respectively. If each number is reduced
by 25, then the ratio becomes 3:4. Find the largest number./ 3 T &1
SUTd HHRT: 4:5 31 IS Ud® T H | 25 Herd € df 3gurd 3:4 8l 9ITdl 81 981 |&I J1d
PIfeTT)

1. 100

2.125



3.130

4. 135

Correct Answer :-

« 125

20) In which year was the Immoral Traffic (Prevention) Act passed? / sHfa®
AT (TrwamH) srfarfaaw e o arfa fora = om?

1. 1954
2. 1956
3.1958

4. 1959

Correct Answer ;-

« 1956

21) Lacteals are related with-/ dfdesred arifyd Eﬂ?ﬁ %—
1. Secretion of Lactic acid/Qfaed 3 & TATaTOl

2. Secretion of milk/ ¥ CRGICIVES

3. Absorption of Lactose/qdeIST & GRNYOT J

4. Absorption of milk/gT¥ SR

Correct Answer :-
« Absorption of milk/G¥l SARNYUT

22) By which year does the Swachh Swasth Sarvatra aim to make India Open
Defecation Free (ODF)? / =g Tae 94 IS (AW & § HFd 99 qF WILJ &l G § &A=
Hh IATH T AT T@T 57

1. 2019
2. 2020
3.2021
4, 2022

Correct Answer :-

« 2019



23) Which of the following had launched the Sanitary Marts Scheme? / a9
A" AT FT A7 e fmar?

1. Ministry of Health and Family Welfare / T&aTesa Ua q9ET< FedT0r §3TAT
2. Ministry of Social Justice & Empowerment / ST =TT S AfermTar #amea

3. National Safai Karamcharis Finance & Development Corporation / TTgiT HHTE FHAT
IERRERCEIGRETIE]

4. Ministry of Urban Development / &rg<t faame weme
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / Tgi THTS FHAT
IESRCREEIGRETIE]

24) The universal energy carrier in living cells is: | Sfdew BifeT A a3 SHell digdh AL E31) %
1. ATP/ Qé'd'

2. RNA/SRUAT
3. Oxygen/ NIEREE]

4, Carbon dioxide/ CACE gl_’ic\?{\l%lﬂ'ls_&'

Correct Answer :-

. ATP/Qé'CH

25) When you insert an excel file into a word document, the data are:/ 9d

AU TS S AT & Ca BIsadI Sladgarsel gl
1. Hyperlinked/ gISWRfcids

2. Placed in a word table/ & Tlsq dTfeidh] § Xl

3. Linked/ feids

4. Embedded/ THieS

Correct Answer :-

« Placed in a word table/ U& Ts dlfeics] H &l

26) When was the Swarnajayanti Gram Swarozgar Yojana started? / Tauisigdt
TTH TGS TISTAT T SAFT HIAH TG o GaA?

1. 1999
2. 2000
3.2001



4, 2002

Correct Answer :-

« 1999

27) The Kayakalp Scheme relates to - / FmaTsed TioT A9 & T fored awafaa &2
1. Health insurance / == AT

2. Cleanliness / T@=zdt

3. Vaccination / E&mazor

4. Health related research and development / TaTess T¥aeeft SIqEET T A

Correct Answer :-
e Cleanliness / ¥a=gar

28) How many Acts were amended at one go by the Criminal Law
(Amendment) Act, 2013? / sraxriae fafer (Femer) srfafaam, 2013 ¥ siaviq U g XA
e srfarfaaT & Hemes AT Tar?

1.3
2.4
3.5

4.6

Correct Answer :-

29) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ = Fafafed vy o yyares e ) & =
TR T I AT AT AT ?

15.5% of 850 + 24.8% of 650 =?
1. 293
2. 385
3.210

4. 375

Correct Answer :-

« 293



30) A is 30% more than B and B is 60% less than C. By what percentage is A
less than C?/A, B ¥ 30% 3ifi[® g 3R B, C ¥ 60% A gl 1 A,C I fpa- ufe=a &9

e?

1. 25%
2. 50%
3.30%

4. 48%

Correct Answer :-
e 48%

31) The disease caused due to the deficiency of Vitamin D in the diet is:/ 3TgIR H faerf= p 91

F J T arar A9 P §:
1. Scurvy / ¥Hdl

2. Beriberi/ O{1 ¥

3. Rickets/ Rapcq

4. Night blindness/ I 3T

Correct Answer :-

» Rickets/ m

32) A student walks from his house at 5 km/hr and reaches his school 10
minute late. If his speed had been 6 km/hr he would have reached 15
minutes early. Then what is the distance of his school from his house?/ T&®

faendf orq = @ 5 fopdl/ae &t wfa & =erar 3 @t 10 fide R A femey vgaar 8| afe as
erq——ﬁrri;rsﬁnﬁ/ﬁ—émﬁa’t 15 fiFe ugd faemey ugaar 3, a SU® W A I9S faemay ot
T AT B?

1.12.5 km/12.5 foat
2. 25 km/25 Tt
3. 37.5 km/37.5 f&H

4. 50 km/50 foHt

Correct Answer :-

« 12.5 km/12.5 Bt

33) To which of the following is the Hindu Succession Act, 1956 applicable? /
fReg SaartaaTe sfarf=am, 1956 e # & o =gl 9< 9 graT 87




1. Jews / AT AU AATAY
2. Scheduled Tribe / ST AT

3. Buddhists / st=t
4. All of these / Ik T+t

Correct Answer :-

« Buddhists / =t

34) Which of the following is not a category of vulnerability among children
as described in the Juvenile Justice Act, 2015? / = & & &= = 9oft, fFen< =g
srferfa=e, 2015 ¥ AT g1 AIar § qfrd dal i T8 572

1. Children in need of care and protection / @@ 3{¥ HLET F T&Ld aToAH!

2. Children in contact with law / fafer 3 dest § vge arer arerhi

3. Children in conflict with law / fafer 1 Ieereae 7 arer areret

4. None of these / za® & #g &l

Correct Answer :-

« Children in contact with law / f&fer & &eqel § g ater aretant

35) Before the Protection of Children from Sexual Offences Bill, 2012, which
was the only state to have specific piece of child abuse legislation? / =41 &1

A sru=ret & "eeror srfafaas, 2012 % 9 FATET THATT TS F I 97 gA g U UF fafiee
fafer ar?

1. Goa/raT

2. Delhi/fee=T

3. Maharashtra/9gmreTy
4. Karnataka/®ie®

Correct Answer :-

« Goa/mrar

36) The Sati (Prevention) Act, 1987 was a law enacted by the Government of
- / T (T farfeae, 1987 Fie Te & 91T gT yferaafya o am oam?

1. Maharashtra / #g1g
2. Rajasthan / TrstegTa

3. West Bengal / af2rg avrmer



4. Gujarat / TS a

Correct Answer :-

« Rajasthan / Trsredm=

37) Which of the following is used for modulation and demodulation? / g &

q B9 1 AIga 3R STHsgaRE & fore Iua fopar srar 82
1. Multiplexer / AR

2. Modem/ AlsH

3. Gateway / Ticd

4. Printer/flUe?

Correct Answer :-

« Modem/ ey

38) Prabir started walking towards South. He took a right turn after walking
10 m. He again took a left turn after walking 20 m. In which direction is he

facing now?/Vd1R, 30T $t 3R T WRY a7 81 10 Hiex Ta & 91¢ 98 ol iR 4s
WTar 81 20 Wew 9o & q1¢ 98 YH: 9 3R g o1dT 21 39 I9HT1 g fhy fazm #°t ek 82

1. South/<f&rmor
2. North/3«}

3. West/tlf\%m
4, East/tl,jzlF

Correct Answer :-

« South/gf&mr

39) If a book is sold at a profit of 10% instead of at a loss of 10%, then
seller gets Rs.80 more. The cost price of the book is: /uﬁ@g\‘?ﬁ?ﬁ 10%

BT B SUET 10% 1Y W 9T 91, 1 fashaT &1 ud 80 31fU® U 817 | [&a® &1 $4 I
f

1. Rs.400/3%.400
2. Rs.620/%.620
3. Rs.580/%. 580

4. Rs.420/%¥. 420

Correct Answer :-



« Rs.400/3.400

40) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T Z4T & wigar dxar sttarfaaw, 2005 qvaweft
e ® & F=ar ke g8t T8l 87

1. “child” here refers to person below the age of 16 / =& Afa==w & “aTars” FT AT & 16 a9
q HH 3IH T ATh

2. It extends to whole of India except Jammu & Kashmir / g srfarfaae S 3w wewie
BIEH ST AT | A6 &

3. Both of these / 3UI=k 2141
4. None of these / =78 & IS gl

Correct Answer :-

« “child” here refers to person below the age of 16 / =0 sfa==w & “arets” FT 7F g 16 a9
H HH 39 T ATh

41) Which of the following is true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /

HZATSA T FrAEA < AR Scfiew (R, gfave six s sfafqaw, 2013 ge=i e da
HET fahed Tgt 7ol 872

1. It is applicable to whole of India including Jammu and Kashmir / 7g sifarf==m s+ ¥
FHIT A2d T ART H AN &

2. It lay the rules for constituting the Internal Complaints Committee / 7g s forrmaa
afafa &7 77 F 1 Ao aar g

3. Both of these / 39ZI=F TAT
4. None of these / 57 & #g &l

Correct Answer :-

« Both of these / I9I=F =T

42) DIRECTIONS: In question given below, there are two statements followed
by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /321 1K fau e uza & < Y= 3R 39S 91¢ &1 fepd 1 3w 11 few e €1
3! feU T S HUT & T AT @ YA 8 3 Fdyrd 9] 9 fy= udid ga gf 1 |+t
frsput @) ufew fFr aa Fifsme fp few e fAeeul & 9 S -31 s faw e sy &1
THHEIA $U H AR A 8, e waqTd a2 oo H §1

Statements: /PYA:



All talented persons are trustworthy./H'l-ﬁ ufaHT=ITet ?ﬂ‘%{, ﬁ@mﬂﬁ?I

Some trustworthy are musicians./$o fagaraur, Wfilaer g1
Conclusions:/ﬁlﬁﬂf:

I. All talented persons are musicians./ﬁ'l-ﬁ gfyT=ITett ?ﬂ'%f, Wﬂ?ﬁﬂ??l

II. Some musicians are not talented persons./$® TMd®R, UfaUTITe fd T8t
gl

1. If only conclusion I follows /H%Wﬁﬁb‘@fl WW%

2. If only conclusion II foIIows/’Cﬁ?WﬁElﬂf II S@TUTW%

3. If either conclusion I or II folIows/Uf?HTFﬁﬁfEﬁﬁf 19111 &@TUTW%’

4. If neither conclusion I nor II follows /UI%:[FﬁﬁEFEf 198l &WW%

Correct Answer :-

« If only conclusion II follows/df¢ Fad sy 11 TR BT &

43) Who will be the Chairman of the Board of Management of the National
Children’s Fund? / T 9T HIY & TG&F IIS & AT HIT ZT7?

1. Minister in - charge of Department of Women and Child Development / ®fgaT Ta aTe
foreTe foramT & - 5T

2. Secretary, Department of Women & Child Development, Government of India / ==,
qigeT ue arer e feramr

3. Financial Advisor Department of Women and Child Development / fa<ita a8,
HigeATsH AT oY a1t faawre

4. Director National Institute of Public Cooperation and Child Development / fRzer, S
EERINRE KN EEACE IR ERIC

Correct Answer :-

« Minister in - charge of Department of Women and Child Development / ¥f2«T T a1e
IEEICRERILE R IR e

44) When was the Rashtriya Swasthya Bima Yojana launched? / Tf3¥ Tare=g
AT AISAT T A A I F g o7?

1. 2005
2. 2006
3. 2007
4. 2008

Correct Answer :-



45) A and B can do a piece of work in 8 days, B and C can do the same work
in 12 days and A, B and C together complete the same work in 6 days. In
how many days can A and C together finish it?/ A 3R B frft sro Y s g A o7
Tod g, B 3R € 3 F19 3t 12 &1 § &% T@vd 8 9UT A, B, 3R € &1 fraes st &m0 &)
6 o=l o &% & 8, a1 A 3R ¢ e fpam fe=t & St &0 &1 1 o2 T@ad 22

1.12 days/12 f&q
2. 8 days/8 faa
3. 14 days/14 fe7

4. 16 days/16 faA

Correct Answer :-
« 8 days/8 fa

46) How many desirable components are recommended in the National

Rurban Mission? /T &+ e & siasta foraer aifera o &t frarfeer f w=hi?
1. 12
2.13
3.14

4. 15

Correct Answer :-

47) Amnion surrounds-/3¢d TRt %—
1. Allantois/ ORTIERT I

2. Chorion/ SIRTg Gl

3. Yolk sac/ fid ®I=I &I

4. Embryo/ YUl Cal

Correct Answer :-

e Embryo/ {UI Eal

48) Pointing towards Ansh, a man said, “His mother is the only daughter of
my father.” How is the man, related to Ansh?/ 3 &1 3R SRT Hd ¢, TP



gnatﬁm%ﬁ?“wﬁﬁ,ﬁ%ﬁmaﬁmﬁgaﬁ%l"agenatﬁerwﬁmwm«ﬁf@ﬁ
?

1. Daughter/QBﬁ
2. Sister/dg-
3. Maternal uncle / HHI

4. Wife/Uci!

Correct Answer :-

« Maternal uncle / |HTHI

49) What is the basic service unit of cellular telephony? / IR ¢albI-l ®t

gf-ardl Tar s&1s T 32

1. PLMN service area/ PLMN gfag Qﬁ“ﬂ

2. Cell/ ¥

3. Location area/ @ldhRH TRAT

4. MSC/VLR service area / MSC/VLR gfdg ‘IR’CIT

Correct Answer :-

. Cell/ 94

50) What is the smallest and biggest font size on the Formatting toolbar?/

BIATET gAaR H Jad SIS 3R IaA T85! Wi HISS T 32
1.8 and 68/ 8 3R 68
2.8 and 72 /8 3R 72
3.6 and 68 / 6 3R 68

4.6and 72/ 6 3R 72

Correct Answer :-

. 8and 72 /8 3R 72

51) DIRECTIONS: Find out missing number from the figure given below./

frdar: i § i spfa # gu Hw=n gra SRl

(Y A1 R
KDAUPAND

1.-30




2.13
3.18

4. 30

Correct Answer :-

52) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFrafafaa uig aré &1 waryd® sieaa w7 - feg mu uy
& IR difrg|

Abhijeet wants to start a small business and he is planning to raise funds
from different sources as shown in the following pie chart:/ arfir\‘sﬂ'crwiﬁam
TAYTY Y[R AT 18T @ 3R 98 fafH= Tal & o9 e &1 a1 51 3871 81 91 {3 urg
a1 § fea gan g1

Raised from Saving/¥dd,
investors/ferdEs 76000

¥ grey ofir,
129000

Borrowing from
friends/Zreal &
IUR, 22000

Bank Loan/d%
=T, 145000

What is the ratio between the amount of funds raised from the friends and
the total amount of funds raised?/ Il | WG M dUT e T TR BT HHI:

3rUTd 41 82
1.22:417
2.145:417
3.23:139
4.43:139

Correct Answer :-

e 22:417

53) Which of the following state is the only one to be excluded from the
Backward Region Grant Fund Programme? 3% & & Fi94r 3ot rar T U=t &
e AT Friwa § 81 arar?

1. Delhi / fe<<tt



2. Goa / TraT
3. Madhya Pradesh / @ega=er
4. Maharashtra / wgeTy

Correct Answer :-

« Goa /mET

54) The vitamin that contains a metal ion is:/ 91 faerfiE %ﬁl’l"\‘lﬁ Yrq S+ JufRd iﬁ?IT %
1. Vitamin A / fde#= A

3. Vitamin B / [deTi®+ B
4. Riboflavin / JTZETGRITAT

Correct Answer :-

L Vltamln Blz/ ﬁaﬁ:{ B12

55) Mammalian embryo is directly surrounded by:/&d ik Hur |1 firy gl 3

1. Allontoic cavitym el
2. Amniotic cavity/&lﬂ_*ﬂ'iﬂ% el
3. Yolk Sac cavity/ qNHIAD el

4, None of these/ 3_'{»&[ q Ebﬁ'st ﬁ

Correct Answer :-

» Amniotic cavity/GI'J:IT'ﬁ'Cm%E el

Topic:- Grad_Managerial Skill

1) is a socially defined position in a society./ TuTet # grArfore =Y A uRyifa uey
fufa 7Y wgd g1
1. Role/ YffrapT

2. Interaction/ 3i=fshar
3. Status/ SRIAd (Rew)
4. None of the above/ SRIed H A aﬁs‘ :I'E?f

Correct Answer :-

« Status/ BRYTd (Rew)



2) The smallest social group is:/ TEY BT AHIIF TYE &:
1. Family/ URaR

2. Village/ Mg

3. Country/ o

4. State/ Y

Correct Answer :-

+ Family/ GRAR

3) Which of the following teaching aid requires a story?/ ET-lﬁ T fry SreaTu= erdar & i%nz HEMT
B TaTgHT Bl B2

1. Chart/ 9T¢
2. Puppet/ d3Ydat

3. Demonstration/ AT
4. Poster/ UReR

Correct Answer :-

« Puppet/ H3Yddi!

4) A single printed sheet of paper which contains information is called:/ ®TIS | TP 3aelt 'E[ﬁ'd
e, forad SRl 8 3 FHgamt gl

1. News Story/ THTER TG (g5 €R)

2. Leaflet/ SRAER
3. Folder/ It
4, All of the above/ GW}ITH vt

Correct Answer :-

o Leaflet/ RdAER

5) Quality of leader is:/ ﬁm/ﬁﬂﬁﬁf CaRIWUE
1. Influence/ UHId

2. Support/ TgaNT

3. Guide/ HARTGRI BT

4. All of the above/ Iuad Tt

Correct Answer :-



« All of the above/ Iudad T+t

6) Poster is a formof:/ UReY
1. Visual aid/ T GgTIH JUBRUI
2. Audio aid/ %o TERIH IUSHRUI
3. Printed aid/ gfad Se—I&H-ArH

4. All of the above/ G“q?iﬁﬂ vt

Correct Answer :-

e Visual aid/ €T Hg™dh IUDRU

7) Which among the following is not a cause of growth for cities?/%ﬂﬁﬁ a"ﬁT-l, I & Eﬁ Cal

PRI 51 82

1. Trade and commerce/TAR T4 dT0g

2. Industrialism/3IENTdTG

3. Development of transport[qﬁ?fe!:r CARREAR]

4. Hygienic outlook of people/?*ﬁﬁf P WD adiG DD

Correct Answer :-

« Hygienic outlook of people/dNTT & WS @G €B® 0T

8) CANCELLED

Extension education is:/ﬁ'\‘?-l'l'\r Rrem - %:
1. Formal education/GﬁWW e

2. Informal education/\?-l'"ﬁtl?ﬂﬂ? fRreq

3. Out-of-school education/ﬁ'ﬂm—@f—w fRreq

4. None of the above/maﬂ 7Y ﬁ?f T8l

Correct Answer :-

« Out-of-school education/fdaTaa-g-amex e

9) Which Five Year Plan increased the economical growth of the country?/mﬁilaﬁq o A
2 o i gfs & Tet B2

1. Fourth Five Year Plan/t t=rasfg gierr
2. Fifth Five Year Plan/ud} taas{a aier
3. Sixth Five Year Plan/@d! UIaufg aieT



4. Seventh Five Year Plan/dTdd! U=ayTg gierT

Correct Answer :-

« Seventh Five Year Plan/dTdd! dgraqufa gierT

10) Which of the following is not a feature of urban community?/ ET-I'EF T Hl, TRt qYqarg 3|
fa=Ywar 78 32

1. Face to face relationship/ 3HA-TMHA BT T~
2. Complex life/ Sfed Siaq

3. Materialistic/ ﬁﬁm

4. Glamorous life/ EEIEICCINISIGE]

Correct Answer :-

« Face to face relationship/ 3THA-HH BT JIe=

11) Group discussion changes peoples behavior through:/ g <=t & WA J G b

HAER P! FGad g

1. Teaching/ 3109

2. Fighting/ asﬁsms%r
3. Shouting/ e

4. Interacting/ 3f=fshar

Correct Answer :-

» Interacting/ S=fhar

12) Which one of the following is not a youth service scheme?/?FI'l?f J B U gdr JaT FioHT T8l
?

1. TRYSEM
2. National service schemef{@l'[ REIRISEI
3. Nehru Yuvak Kendra/ﬁé?a Ygdoh Gy

4. ICDS

Correct Answer :-

» ICDS

13) Instructional aids are used by a teacher to:/ 3&HIU® gRT Glﬂ%‘{l:l'l?ﬁlﬁ? TS -AHRA] &1
ST ¥ fore fomam wiman 31

1. Glorify the class/ D&l Pl graxdl UaH B




2. Attract the class/ BT B BT B

3. Clarify the concept/ 3{dYRUNT WY HH

4. Ensure discipline/ SR gMAAd B

Correct Answer :-

« Clarify the concept/ 3{@YURUN WY HI

14) Effective programme requires:/ YHIGRITe HTAHH & forg IS g 8l
1. Planning/ fAaie
2. Controlling/ g0

3. Evaluation/ gl
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Iudad Tt

15) All research must begin with: /qHI IR BT AR ____ & Y BﬁT ?IT%Q:
1. Hypothesis/IR& a1

2. Result/aRuma

3. Conclusion/ﬁﬁb'ﬁf

4. All of the above/Iudad it

Correct Answer :-

« Hypothesis/aRa& g1

16) The information which the communicator gives to the audience is:/ ARGl Aaratt &Y i
a1 3T & I8 &

1. Action/ HrIaTE!

2. Message/ LS|

3. Behavior/ JdgR

4. None of the above/STRIad # J P15 g

Correct Answer :-

« Message/ Tl

17) “Education is the manifestation of perfection already in man” was stated by:/ “Rrem ijﬁ
e A faemm ulryefar &1 e dieror 27, ag a2 FET ATl



1. M.K. Gandhi/ TH.3. Tt

2. R.N. Tagore/ 3R.EH. TR

3. Swami Vivekanand/ Wit fddsr<
4. Abraham Lincoln/ 3fdllgH NG|

Correct Answer :-

e Swami Vivekanand/ Wt fdaeH<

18) “Creation of a sound mind in a sound body” is stated by:/ "W IR # WX U9 $I TTA1", T§
AFEE:

1. M. K. Gandhi/TH.3. Tt

2.G. S. Thompson/Gﬁ.QH. g
3. Aristotle/3R¥J

4. Plato/wicl

Correct Answer :-

¢ Aristotle/3R¥]

19) Communication is the art of:/ ¥R FI par 2l

1. Listening to other/ GERI &I T
2. Speaking to a group of people/ Tl & THg ¥ a1 HRA

3. Interacting with people/ ATl & T 3=fehaT B

4. Writing letters to people/ @RT &I U fera

Correct Answer :-

« Interacting with people/ @ & TTY ffdhar B

20) Which one of the following will be categorized as an achieved status: /Eﬁ'\ﬁ 3 v
fRufa 5t goft # a1 wre?

1. Sex/ e

2. Age/ 319
3. Marital/ daTie® UG
4. Caste/ STIfd

Correct Answer :-

« Marital/ daifes U



21) Video conferencing is an example of:/ THEA FIBIRT T Iarexur gl
1. Folk media/ i HTeAH

2. Print media/ fiie Ay

3. Interactive media/ 3fdfshaTale (3efaed) ATeqd

4. None of the above/ IRIgd H I P gl

Correct Answer :-

« Interactive media/ 3fafdharet® (efaed) ATe™

22) Appreciationisaformof:/ RMgAT__ HITH U %I
1. Development/ fad&m™

2. Motivation/ PRI

3. Participation/ TgHIRTT

4. Cooperation/ Hg®HIRdT

Correct Answer :-
« Motivation/ ORI

23) Who is the chairman of Planning Commission of India?/ HRGT Hfa smarT &1 Seel CaC| ﬁ?ﬂ
&2

1. Prime Minister of India/4Rd & JUHAT
2. President of India/HRd & JgUfd
3. Home Minister/7g Tt

4. Planning Commissioner/=ifd 3iiged

Correct Answer :-

« Prime Minister of India/HRd & U]

24) Who are the members of Planning Commission?/ifa 3TN & TS P %'?
1. Prominent Public figures/UfdfSd @ie g afad
2. Administrators/URMAdh

3. Technical Experts/d@-iie! faRIwS
4. All of the above/B'CRi?ﬁ it

Correct Answer :-

« Al of the above/3udad T+



25) What is the vehicle of Culture?/ IRPfA HT A6 P 82

1. Technology/ Tefias!
2. Man/ 9™
3. Society/ JHN

4. Language/ HNT

Correct Answer :-

» Language/ HTST

26) Extension Education has it's roots in:/ ffaR Riem®drga_ # @)
1. India/ YRd

2. USA/ qTHT

3. UK/ faies

4. Sri Lanka/ glciht

Correct Answer :-

« UK/ fea

27) A fixed curriculum for teaching is in:/_______ ¥ 3ATY_ &1 fNaa ursu=af gt 8:
1. Non formal education/ﬁT-Sﬁtﬁl'lﬁE fRreq

2. Formal education/3Na=iRe fRraf

3. Adult education/daIh (Iﬁ@ fRrefm

4. Informal education/GFﬁUﬂW fRreq

Correct Answer :-

« Formal education/3u=niRe &

28) What is monitoring a group?/ dYg P AR &A1 |00 %?
1. Designing of programme/ CauE s SIS GRS

2. Implementing a programme/ SRR HRad BT

3. Controlling a group/ ¥Hg P! FEfa e

4. Helping a group/ 9Hg P eI TRAT

Correct Answer :-

« Controlling a group/ IHg &1 FAAd BT



29) Maximum participation of students during teaching is possible through:/ & HIeHAH ﬁ,

AT P SR ety #t srftreaw FgHiar a™a g1

1. Lecture method/ AT fafer

2. Textbook method/ UT&Ig%dd fafer
3. Demonstration method/ TR 3y
4. None of the above/ SR & T ﬁ? T8l

Correct Answer :-

« Demonstration method/ UegH fafdr

30) Which Five Year Plan started from 1st April 19562/ 1 30d 1956 &1 HIH-3 U=adfa FiHT
IRTY g8 A2

1. First Five Year Plan/ggcil Udasig TieT

2. Second Five Year Plan/ga}! Gaauig e
3. Third Five Year Plan/das} Uaasg IT
4. Fourth Five Year Plan/af Ugasfg O

Correct Answer :-

« Second Five Year Plan/gux! Gaaui drerT

31) Tape recorder is:/ Rorsr Uh %I
1. Electronic aid/ 3Ad¢ b Hg—IH-3TSRUI

2. Printed aid/ gfad Sgrw-Tr

3. Visual aid/ €T Hg—dh SUHIU]

4. All of the above/ Iuad Tt

Correct Answer :-

« Electronic aid/ 30D TGRIDH-3THRUI

32) Who is the Father of Sociology?/ THISRIRA & W& BIF U?
1. Comte/ B

2. Durkheim/ g&H

3. Spencer/ W

4. Cooley/ Feit

Correct Answer :-

« Comte/ B



33) Joseph Stalin implemented which Five Year Plan?/ SR wrfer A H19-W veadfa aeAr
Praitad 1 A2

1. First Five Year Plan/Ugcil Udasig IieT

2. Second Five Year Plan/ga<! Gaayfg e
3. Third Five Year Plan/ceR) Garasig grer
4. Fourth Five Year Plan/a0 Uga¥fg e

Correct Answer :-

« First Five Year Plan/Ugct UgaS g T

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafea T
DI ATYED YgHY 39D - f¢d T agfamed! ==l | Tal fawed &1 99+ B

Our Prime Minister’'s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT = T (PURA - WarsfET s gfaf-dter 571 & va uivars arfa amdfor &= § et giaansi
3 yerailh) ATS T U fIeTa iy Bt Tiven B 31 59 ey # gf B qrurane ara urndtor
&= 3 vga @1 gl 3R 37 IR A yeR @) wRfeefad § wref, 3 | - aswt, uliass we fagaa
FHfaefad! F 0 A Hifae sAfeeiad; fyata Tdterm sexaie td gan e Jarei & = o

aﬁ%ﬁﬁle@m@uﬁr&mwﬁ%wﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vl g o1 fawre g1, fari T o AT 1 Ut SUS @1 Haiad Hed e 4% & 6 W il A
| TIHIT 50,000 TXT IR S Sl Tal Y i Hrfaefadt F AR Y T o $81 T
fayfaemea srvA- amﬁaaﬁwmnﬁwmaﬁ?mamwmmmmls%w
F &7 ° g1 oM aTd Y & UPR, Sd Y=, W SdTe Ud faquH W faar s aifgul

Prime Minister announced development of:/ YUTH= 7 390 A f5g &7 ¥ e ot 9ivon o2
1. Rural areas/‘/TPﬂUT &

2. Urban areas/<gl &3

3. Tribal areas/S-SI &3

4. None of the above/STRIad & § 1S Tal

Correct Answer :-



« Rural areas/JmHIor &%

2) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fRaferfRae e
Pl ATYAP TP 9P - fed T4 agfawed] u=al # 9gl fawew &1 994 +¥|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR U 3 QT (PURA - WarsfET srd= efafAde 571 wva uivars arfy smfor &= F <edt glaansit
P yeraihh) ATHS TH U BT STdHH I ven #Y 31 39 Srdwy | gf B grirarey ara urndtor
&=l #1 ugaE B ST R 3% IR AT ueR 3t HHfeefad & s, 3 § - Jewl, ufvasw wd fagaa
Ffeefad F ©u A Hifae sAfRfad; Ryata Tdtemm sexaie td gan wenfre Jarst & = o
Wﬁ%ﬁﬁm@m@uﬁr&mwﬁ%wﬁmﬁw 3R IR FAfaefad,
frerd <1y o1 faere g, Reaeil T o @Y Y St S 1 A A e 31 & 6 e it &
| TIHIT 50,000 TXT FHIFERT S Sl Wia Y i pAfaefadt F AT I 7 fFHma S8 1 &
fayfaemera sroA- amﬁaaﬁwmnﬁmmsﬁ?m%mmmﬁuﬂﬁnm%w
& &7 ® g1 9F a1 $iY & UHR, Sd Ya=UH, TR SdTe Ud faquH W faar s afgul

How many types of facilities were announced?/f%a= TR #1 gfaurai t iwom ot w2
1. One/Udh

2. Two/al

3. Three/dH
4. Four/dR

Correct Answer :-

3) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fRaferfaa e
Pl ATYEP TP 39> - fed T agfawed] w=al ° ugl fawey &1 994 +¥|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They



should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

UK WUTHHAT A IRT (PURA - Warsf& s+ efafadte 571 ¥ uivare aif arftor = o =edt gfaursi
P yerift) IS Te I fapT STdchH @) givon &1 g1 39 Sriwpd # 9fg & grira-sit ara amfior
&= 3 vga @1 gl 3R 37 IR A Yo R &Y sAfeefad § sef, 3 § - ast, uias v fagaa
FHfaefad! F U A Hifae sAfeefad; fyata Tfterm sexaie td gan e Jarei & = o
ﬁ%ﬁ%ﬁﬁlﬁ%@@@ﬂﬂﬁ%ﬁﬁmﬁ%ﬁﬁ 3R IR FAfaefad,
7l 31y o1 fawre §R M, el T o AT 1 Ut U &1 Warad Hed o1 4% & 6 W il A
¥ TIHT 50,000 TXT HIRIFH SH S Wil $1 i HAfFefadt & aRg Iy o1 e o311 &
fayfaemea 3mA- amﬁaaﬁwﬁvnﬁwﬁnsﬁvm$aaﬂwmmauwmla%w
F &7 ° g1 oM a1 Y & UPR, d UG-, W SdTe Ud faquH R faar s aifgul

Physical connectivity is in the form of:/'l-ﬁﬁﬁﬁ FAfefad fFad T A ahfi?

1. Road/dgdh

2. TransportationfcrﬂHB:r

3. Power connectivity[fagqﬁ FAfaeiac!
4, All of the above/B'CIﬁHH it

Correct Answer :-

» All of the above/thgTﬁ ot

4) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafea T
P AFYES UgHR 39F -1 G T4 sgfamadt w=Al § Ogt fiwew &1 999 31

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = T (PURA - WaTsfET s+ gfaf-dter 571 wva uivarsr arf amdfor &= § et giaursi
3 Uerailt) ATS TP U fIeTH STdwu Bt Tiven B 31 59 Sy # gf B qryraney ara urdtor
&= 3 vga @1 Il 3R 37 IR A yeR &) sRfeefad § wwf, 3 | - ast, ufvasw we fagaa
FHfaefad! F w0 A Hifae sAfeefad; fyata Tdterm sexaie td gan e Jarei & = o
Wﬁ%ﬂlﬁ%@ﬁﬂﬂﬁ%ﬁﬁmm 3R IR FAfaefad,
vl 31y o1 fawre g1, i Td o AT 1 Ut SUS @1 wdiad Hed e &% & 6 W il A
| TIHIT 50,000 TXT IR S Sl TTal Y S Hrfaefadt F AR Y T fFora $81 T
fayfaemea srvA- mmﬁwmﬁﬁwmaﬁ?mamwmmmmm—%ﬁ
F &7 ° g1 oM a1 Y & UPR, Sd Ya=UH, W SdTe Ud faqoH R faar s afgul

What will the farmer get best price for?/mﬁ‘f P fgeT gataq e frerm?
1. Their farms/\’rﬂﬁ Wl &7



2. Their cattle/&rlﬁ HARM} &7
3. Their produce/\’rltl'rﬂ 3US Bl
4. Their homes/GfCI%r HPHMI BT

Correct Answer :-

e Their produce/GN:ﬁ SIS hT

5) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fafafea T
Pl HATYED YgHY 3UP - f¢d T agfawed! ==l | Tal fawed &1 a9+ B

Our Prime Minister’'s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT 7 T (PURA - WarsfET s efafdter 571 wva uivars arfa amdfor &= § et giaansit
3 yerailh) ATS T U et i Ft Tiven #Y 31 59 Srfww # gf B qryraney ara undtor
&= 3 vga= @1 Il 3R 37 IR A yeR @) sfeefad § swf, 3 | - aswt, uivass we fagaa
FHfaefad! F 0 A Hifae sAfeefad; fyata Thterm sexaie td gan e Jarei & = o
gﬁmaﬁ%ﬁﬁla@m@uﬁrwwﬁ%wﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vl 1y o1 fawre §R M, fari T o= AT 1 Ul U &1 Watad Hed e 4% & 6 W il A
| TIHIT 50,000 TXT FIRATT S Sl Tal Y i Hrfaefadt F AR Y 7 fFom $81 T
fayfaemea rvA- amﬁaaﬁwmnﬁwmaﬁ?mamwmmmmm%w
F &7 ° g1 OF a1 Y & UK, e Y=, W SdTe Ud faquH R faar s afgul

How will the nation develop?/IT¥ &1 faera $A ﬁ'ﬂT?

1. Through farmer’s connectivity[m P BAGCAT & IR
2. Through economic connectivity/&ﬁ% FAfgefadt & oIk
3. Through people’s connectivity/FﬁTﬁ B! Ffdeidel & SIRT

4. None of the above/G’CIﬁTﬁ 7Y aﬂs‘ T8l

Correct Answer :-

« Through economic connectivity/3Mfie FAfdefact & AT

6) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRaferfaa e
B AFYAP TgH IqP A &0 T ggfamedt uzAi | w6t fawew &1 99 $|

Our Prime Minister’'s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in



the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT 7 T (PURA - WarsfET = efafdter 71 wva uivars arfa amftor &= § et giaansit
3 yerahh) ATE TP U fIeTH i Ft Tiven B 31 59 Sriwy # gf B qrirane ara urndtor
&= 3 vga @1 Il iR 37 IR A yeR @) sAfeefad § wwf, 3 § - ast, uiasw wd fagaa
FHfaefadl & U § Hifdw sAfdefad; fayig SitsTa gex-e Td gaar wenfiet darsi & U d
ﬁmﬁmlwmwﬂwm%wﬁmﬁ%ﬁﬁ 3R IR FAfaefad,
vl 31y o1 fawre g1, el T o= AT 1 Ut U &1 waiad Hed o1 4% & 6 W il A
| THIT 50,000 TXT FIRATT S Sl Tal Y i Hrfaefadt F ARy Y 7 fFom $81 R
fayfaemea srvA- amﬁ&hﬁmmnﬁwmsﬁ?mamwmmmmm%w
F &7 ° g1 OF a1 Y & UPR, SId Y=+, W SdTe Ud fauuH R faar s afgul

What should university consider?/ﬁ’aﬁmﬂﬁ &1 fHa W faR s HT%E?
1. Type of farming@iﬁ DI YPR
2. Water management/sicd U=+

3. Food production/dTe] 3dlgd
4, All of the above/E'CPjHH it

Correct Answer :-

« All of the above/3udad Faft

7) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafea T
DI ATYED YgHY 3UP - fed T4 agfawed! ==l | 9al fawey &1 a9+ B

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P ARG FiRE (NLM) H1&RdT Y e, forem Td Sia1iora & i &t offofd o iR oo ¢fes
Sitae # ITHT UGN H1 1 Al & U F gRYTRT Ha1 1 NLM BT 769 TreRar # s ud
PTATAD IR B TBTHSD TRYAT B YT B A A $El M g ISP HIERaT & 3o I

TRIfRIHRT 3R Sia urar § GUR STRIA giaT 8 | F1&Rar & 9 fRie & Ay gafeq fear mar g



o wRa & iU 91 snyRyg faivany, Iy e 1 gerar auT givgfae ggYfH S 3R TeT
T WA €1 afauTRra #) @y ve ufvar e, vaiaror e & Aed, Wiew & smeR &1 |
oy wd AmAe A9 #1 yEfiear F IR # SFA-WRea Y WeTied f5ar Sian 8 1erafdsdar 1 3 &
I & AP ITINT & T saaaie SR & GUR | 3R A1y &1, U I & A1 I - 3
o1 grgut it SRS, iRt (eA) &1 te ugayul gew 3 1ug Rignfiiat &t siftrm, fomae, wa s
PTal P MUY A She & ST UAT HfTST T g1 # Herd T4 W Aferd 31 5= ST, =TT U
fawarR & aRferd w2 arelt Rrem yomed & wreaw F oft wre foran o wwar 21

gLM defines literacy as skill of :/ NLM H1&Rd1 &1 P P & ©9 & IRUIRNT HIar
I

1. Reading/Ye-T

2. Writing/aa

3. Arithmetic/3{eToTd

4. All of the above/Iudad It

Correct Answer :-

« Al of the above/3udad T+

8) DIRECTIONS: Read the passage and answer the questions that follow./ fd=r: fFrafafaa e
P YLD YgH? I9 -4 &3 T ggfawadt wxal & W8t fave &1 9g971 $3|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

TSR AR IR (NLM) H1RdT $1 e, e Td i1 & wiera &) oifvfa ¥ ok o 3
S ® SHT TN B3 B Al & 7Y A GRUTRT Har 81 NLM &1 980 J1eRar # srafaRar v
PTATHAD IRl B TBATHSD GRYAT B YT B A A $El M g IPTATdAP HI&RaT b 3ol I
TRIfRI<or 3R Sita=T TuraT A GUR ST Shar @ | AreRdr S Irag Rigm & Ty gafea fear man g
o wRa & iU 91 snyRyg faivary, Iy w@e 1 Terar auT givpfae ggYfH S 3R TewT
T A €1 afaurRraY #) e ve ufvar e, vataror GRevr & ded, Wies &) smeR &1 |
oy wd Ao A9 #1 yfiear F IR # SFA-WRaa ) WeTied fear siran 8 1erafdsa 1 o 8
Y F SJAIeH ITUNT & T saradie Hivra & YUR| 3R A1y &, U I & A F - 3
H1 gyl ot AR ®ar, Siftrm (WReA) 1 te Aeayut gew € 1as Rignfiay #) siftrm, e, wd s
PTal P MUY A She & ST UAT HiTST T g1 # Herd T4 W Aferd 31 3= (T, =TT T
fawaR &) wfrd $39 arelt Rrem yomelt & wrerw § o ure far o 9o g1

Functional literacy results in:/ STAT® AR I gIRIa gian/ gl 21



1. Quantity of life/ STiad @1 AET

2. Quality of life/Sitd @1 ord
3. Improvement of Iife/\_rﬂ?ﬂ | JUR
4, Increase of Iife/GﬁT:Ff | q@

Correct Answer :-

« Quality of life/Siia= 1 Tura

9) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: frafafaa e
P UFYED YgH? ITF -4 33 T sgfawadt uxal & w8t fawe &1 9971 $9|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P ARG Fi= (NLM) H1aRdT oY e, forem Td Sia1iora & i &t offofd o 3R o ¢fes
Siaq ® STHT UGN 31 B Al & 7Y A RIS HIar 81 NLM BT 980 J1eRar # sefaRar wd
PTATHAP IRl B FBATHSD GRYAT B YT B A A Pl M g 1PTaIAP HI&RdT b 3ol I
TRIfRIHRT 3R Sia uraT § GUR STRIA giaT 8 | F1&Rar & 9 fR1e & Ay gifed fear mar g
Ror wRa & 3w oY snuRyg faRivang, e whe B gerar aur Aiplod ggyfi 31 iR e
T T &1 afaHTRET @ WrRa vd uaR e, wafaRor IRev & Agd, T Bt PR 3 |
faa wd A 9 3 yRiear & TR # SFA-WRen B Wi fear sirar g srafarsar &1 sidf 8
I F SJIed ITANT & T saraaie SR & GUR| 3R A1y &, T IT & A1 - 3
H1 gyl ot [SIRTe @, Sftrr (WRaA) 1 e Aeayul gew  1us Ry #) siftrm, e, v st
Pt B I W SieA & WY ST Hias W e § WeH 9911 W aférd 81 578 ST, g8~ U
foaR &) TAfrd H3 arelt e yorrelt & wrerw | of wred fHaT o 9o g1

Basic feature of constitution of India is to deepen the:/ YRd & AU T MURYF fa=war
&1 3R e HIAT &

1. Cultural background/dR& fdd JEYA

2. Social background/amaTfTd 1{5’1@

3. Traditional background/UR¥IRe® JEYH
4. Historical background/UfcgiRics ggy@

Correct Answer :-

« Cultural background/aRpfdd JEYH



10) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fAufefaa
TN $ ATYAP UgHY 39> - e T4 agfawed! w=al & 98l fawew &1 994 +¥1

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HIgRET Fi=H (NLM) H1&RdT B e, forem Td Sia1fora & iera &t offofd $ 3R o ¢fe
Sia ® SHT TONT B3 B Al & 7Y A gRUTRT Har 81 NLM ST 980 &Rl # sfrafavRear v
PTATHAD HIERAT B TBATHSD GRYAT B YT B A A $El M g IPTaIAP HIRdT b i I
TRIfRTe<or 3R Sita=T TurawT A GUR gIRa Fhar @ | AneRdr B Irag Rigm & Ty gifea fear man g
fored WRa & Wy 3t smuRayg faivang, Tt wie o) Terar auT ivpfad gEyfi oY 3R Te
T A €1 afauRra #) e vd ufvar e, vataror GRevr & ded, Jiw &) smeR 31 |
oy wd AwfAe A9 #1 yfiear F IR # sFA-WRaR B WeTfed fear siran g 1erafdrsar 1 3 &
Y F SJIed ITUNT & T sara e Hivra & gUR| 3R A1y &, ar I & A F - 3
H1 gl ot ARt ®ar, Sftrr (WRaA) 1 te Aeayut uew  1as Rignfiay +) siftrm, e, wd s
PTal P MUY A She & ST SUAT HiTST T g H Herd T4 W Aferd 31 378 ST, =TT T
fawar &) waferd $39 arelt Rrem yomeft & wrerw § o ure fear o 9w g1

The participants of NLM are encouraged to learn about: /NLM ¥ ufaurfirat &1 P IR A
S-WReA 3t Wieatfed fbar s 31

1. Family planning/aRaR FaeH

2. Conservation of environment/TafaRuT TR&fUT
3. Relevance of science/fd3i &1 URiRTawdT

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+

11) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fAufefaa
TR $ ATYAP UgHY 3UP - e T4 agfaswed! w=al & 98l fawew &1 a4 +¥|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of



constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P AI&RET FI= (NLM) H1aRdT 1 e, forem Td Siaiora & i &t offofd s 3R o ¢fe
Siaq ® SHT UONT B3 B Al & 7Y A GRUTIRT Har 81 NLM &1 980 &Rl # sfrafaRar v
PTATHAP IRl B TBATHSD GRYAT B YT B A A $El M g IPTaIdAP HIRdT F 3ol I
TRIfRI<or 3R Sita=T TurawT A GUR ST Shar @ | AreRdr S Irag fRigm & Ty gafea far man g
o wRa & iU 91 snyRyg faivary, Iy @ Y gerar auT givpfae ggYfH S 3R TewT
T A €1 afaurRray #) wara ve ufvar e, vataror @Revr & Aed, Jies &) smeR &1 |
oy wd AR 99 #1 yEliear F IR # SFA-WRaa B WeTied fear sirar g 1erafdrear 1 3 8
Y F SJAIeH ITUNT & e saraaies Sivra & YUR| 3R A1y &), U I & A1 F - 3
P1 gl ot | ST, SiftRTH (W) &1 TP Teayul ew g 1ag Rienfat &t siftrm, fam=, wd sl
PTal P MUY A She & ST UAT HfTST T g H Hard T4 W Aferd 31 3= ST, =TT U
fawR &) wAfrd $37 arelt Rrem yomelt & wreaw § o ure far o 9o g1

Awareness is a significant element of: /SINI&dl &1 % HEAYUl U< gl
1. Teaching/3&T0+q

2. Communicating/IdR

3. Learning/3ffRT (IRaA)

4. Resea rch/Qﬁ‘EI

Correct Answer :-

« Learning/31feRT (Ra")

12) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea
TR &1 AWHYAP TgH: I A &8 T ggfawed! uxl o 98 faweq &1 797 H31

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HIgRET Fi=H (NLM) H1ERAT S e, firem Td Sia1iora & iera &t offofd He- 3R oo ¢fes
Sita ® SHT TONT B3 B gl & =Y A GRUTRT Har 81 NLM ST d80 J1eRar # e vRar v
PTATHAP HIERAT B TBITHSD TRYAT B YT B A A $El M g IPTaiAP HIRdT & 3ol I
TRIfRIHRT 3R Sia uraT # GUR TR gidT 8 | HI&Rdl & G Riem & 91y gafed fear mar g
Rord WRa & AU 31 snyRyg fadivan, Ik TS B AT auT Wiepiad gEYH $i 3R TewT



T fAE €1 afauRraY &) wara vd ufvar e, vataror GRevr & ded, Widsy & SR 31 |
oy wd Qe 9e #1 yliear F IR # sFA-WRe ) Werfed fear siran 8 1erafersar 1 3 8
Y & Ied ST & FIT saraaiie iwra § guR| iR 1y g, I I & Jread | St o
BT gl ot | ST, SR (W) *71 TP Tegayul uew g 1ag Rienfat &t siftrm, famam, wd sl
PTal I MU W She & ST SUAT HfTST T g | Herd T4 W Aferd 31 3= ST, =TT T
fawaR &) waferd $37 arelt Rrem yomeft & wrerw § o ure far o 9o g1

Education system integrates:/ ﬁT&IT YUt I ) ) JHH B %I
1. Teaching/3T0q+q

2. Research/Qﬁ‘EI

3. Extension/ﬁﬁl?

4, All of the above/B'CPE[HH it

Correct Answer :-

« All of the above/3udad Faft

Topic:- Grad_Child Care and Education

1) Which are the main source of AIDS:/ Q@W'ﬂ@@ﬁﬁ?w%
1. Prostitution/ é@ﬂ‘qﬁ

2. Saliva/ @R

3. Cough/ PG 3|

4. None of these/%tlﬁ@faﬁgﬂ'e?f

Correct Answer :-

« Prostitution/ dRATgfd

2) A Mentally retarded child IQ is less than ./ RIS U A fieg st
# gig-afs AT A2

1. 88
2.85
3. 86

4.84

Correct Answer :-



3) What is important factor in social development:/ ST fasT &1 v @ a@
GuLS

1. Heredity/d=ITJhH
2. Gender/feiT

3. Environment/dTdraxur

4. Heredity & Environment/d=IIshH 3R ITATaRu]

Correct Answer :-

« Environment/dTdraxul

4) First Develop teeth is:/ YYHER fasfyd gid &9 91 841 8-
1. Milk Teeth/gY & G&id

2. Permanent teeth/ RIS &id

3. Occlusion /qd dYRU

4. All of the above/maﬂ Tt

Correct Answer :-

« Milk Teeth/gy & gid

5) Among these which are aims of special education:/ f% & @ #19 faxiy fXren

T e o

1. Help in adjustment/IHrANH H STl
2. Maximum development of ability/3adl &1 3G dH faH™

3. Economic Independence/ 3 addr

4. All of the above/IWRIad It

Correct Answer :-

« All of the above/IWRIad I+

6) Pulse rate in new born is:/mﬁqﬁwﬁr:
1. 120 per minute/120 ufd fafve

2. 125 per minute/lZSHﬁIﬁIﬁ‘c’

3. 130 per minute/130 Ufd ffae

4,135 per minute/135 Hfd fife



Correct Answer :-

o 125 per minute/125 Ufd fffae

7) One ounce milk give calories/t{ﬁ&ﬁﬂ'crgﬂﬁ AR ure gl 8-
1. 30-40 Calories/30-40 HaAR!

2. 35-45 Calories/35-45 HaR

3. 18-20 Calories/18-20 HaR!

4. 37-50 Calories/37-50 dHaRt

Correct Answer :-

« 18-20 Calories/18-20 &t

8) Which of the following are the areas of human development is:/ fada
B A4 faeTa &1 1 &

1. Physical/XI IRGD
2. Social/ QTSR
3. Cognitive/ TIMTHD

4. Physical, Social, Cognitive/ IRIR®, THI®, AHTHD

Correct Answer :-

« Physical, Social, Cognitive/ IRIR®, TG, TAHETHD

9) National AIDS Control Programme (NACP) was started in year/
IS TgH forizvr srdwH (NACP) o adf o 3= fapar i

1. 1988
2. 1994
3. 1987

4, 1992

Correct Answer :-

« 1987

10) Brale Lipi is related to:/S@faiy forad Iwfid g

1. Blind child/ 3i® STcie



2. Speech handicapped/dToft fadw e STcid

3. Mentally Retarded child/AYHG dlcih
4. None of these/‘{ﬂﬁ@faﬁé:ﬁﬂ'

Correct Answer :-

- Blind child/ 39 STeih

11) Child Infancy is called as:/ QARERIT F AP DI FIT Hed &:
1. Neonate/ WTHQ]%

2. Zygote/ ol

3. Babyhood/ ddud

4. Embryo/ YUl

Correct Answer :-

« Neonate/ 7avird fRIg

12) When does UNICEF Programme for street children started: / 1% §RT
TIERT Tl & o FRIHH H9 YRY gai:

1. 1992-93 Year
2. 1994-95 Year
3.1993-94 Year

4. 1995-96 Year

Correct Answer :-

« 1992-93 Year

13) Pre school education is related to:/XITdl qéf&r&nmﬁ;iﬁﬁm%:
1. Informal/ 3RS

2. Formal/ 3oamies

3. Informal & Formal/&F?I'q?lTF\’E a1 SRS

4. None of these/3TH I P15 g

Correct Answer :-

. Informal/&FﬁCI%lTW



14) Montessori method is related to:/ AT fafy foras wafia @8-

1. Education of mentally retarded children/ ATHRI® A% aTcid &1 fRiem

2. Education of genius children/ PISKICIEEISEA A RE]

3. Education of physically handicapped children/IRIR® HWWW&?&[&H
4. All of the above/IWRIad i

Correct Answer :-

« Education of mentally retarded children/ A& M=y STc® &1 R1em

15) What is Right Stage of Prenatal Development:/ nﬂwf&rgﬁmquﬁm
T &

1. Period of Embryo, Period of Ovum/ fUus sraw, fota srawat
2. Period of fetus, Period of Embryo/ nﬁwﬁr@, fUug s/
3. Period of Ovum, Period of Embryo/ fo%a 3fa®i1, fUUs 3faril
4. None of these/ 370 ¥ ®Is Aol

Correct Answer :-

« Period of Ovum, Period of Embryo/ fotg a1, fUUs sawi

16) Which quality is related to creativity:/ @< TT 0T YoATHD T A U &

1. Introvert/ 3Ryt
2. Extrovert/ &%‘ﬂ'@

3. Thinking/ 9=
4. All of the above/ IWRIad gt

Correct Answer :-

« Thinking/ qra

17) Special education is related to:/ g # ¥ #+ fafry fRam A affrfea 2
1. Special teacher/fafR1y fRrenfag

2. Special Reading material/fafRy grey I

3. Special activity/fafR1g forar fafg

4. All of the above/IWRIad i

Correct Answer :-



« All of the above/IWRIad I+

18) Which is not the law of learning?/ ﬁ?ﬁﬁﬁ??ﬂ@ﬁﬂﬁﬂﬁqﬁ%
1. Law of readiness/mﬁﬁﬂﬁ

2. Law of exercise /G{WIHWW

3. Law of effect/JHTd &1 (HaH

4. Law of mendal/ﬁ'ﬂwwﬁ'&lﬂ

Correct Answer :-

« Law of mendal/AUsd &1 fAaq

19) Which is widely spread scheme for child & Women:/WE?i'Ir%?lT%‘g' X [UES]
forga Qs w1 2

1. Integrated child development services/IHdbd ST [dHTH JdT ISl
2. National Immunization Programmme/ﬂ@ﬂﬁmw

3. National Rural Health Mission/ITs¢ 1 W& iR

4. None of these/378 d &S gl

Correct Answer :-

« Integrated child development services/IHidd aTd fadm™ TaT Ao

20) Various kind of physically handicapped children are / IR srgmar
A g FAR= ypR & a1ere, ok

1. Blind children/ 3/ STdd®
2. Hard Hearing children/ao_qﬁzﬁaﬁw
3. Crippled children/3{U dTcidh

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/3tRlad I+

21) Which is important part of human teeth?/ 55 & &\ 91 914 &id &1 W@
YT 82

1. Enamel/ Qﬁtlﬁ
2. Keratin/ fapfe



3. Tolin/ afem
4. Dentin/ o

Correct Answer :-

. Dentin/ SocHd

22) According to Hurlock human Development has now many stages:/ al®

& TR A4 faerd $ fha srawumd aard 2
1.11
2.6
3.10

4. 8

Correct Answer :-

« 8

23) What is important carrier of Heredity:/ WWE@WW@W%
1. Genes/ Wi

2. Cell/ IRAebT

3. Muscles/ 3

4. Ovum/3us]

Correct Answer :-

. Genes/ Sit=g

24) NACO is related to which disease:/ WWWEWW@%
1. AIDS/TSH

2. Cancer/&aR

3. Typhoid/?lﬁﬁ?ﬁ

4. Beri-Beri/a9-a%

Correct Answer :-

. AIDS/USH



Perception, abstraction, transfer are characteristics of / W&-ﬁWUT,

1. Cognitive/ IJMTHD
2. Creativity/ {gollH®
3. Aesthetic/ Traday
4. Emotions/ TaT

Correct Answer :-

« Cognitive/ GIMTHD

26) Which of the following is not the stage of language development:/ Ffra &
A I UTHT fapTT Y 3ot 181 &:

1. Preparation of speech/ CINECARRIR
2. Sentence use/dTdd TN

3. Correct pronunciation/Y[& 3=RUI
4. Socialization/JHTSIIH T

Correct Answer :-

« Socialization/JHTSIH0T

27) ELISA is a type of: /UfHI U UHIR Bl g
1. Typhoid Test/dufde® ¢

2. Cancer Test/%?é??f

3. Fever Test/ETﬂ%E

4. AIDS Test/TSH <X

Correct Answer :-

« AIDS Test/UgH ¢

28) What is last stage of language development?/HTUT fa®TH S STER AT
T2

1. Crying/ sh-
2. Vocabulary/Rlsq HUSR
3. Sentence formation, a1 fAmfor

4. Pronunciation/ 3=dRU]



Correct Answer :-

e Sentence formation/ areg At

29) Which children are called exceptional children:/ f& sTa®! @I fafRre ara®
He1 ITdT 8:

1. Genius or Gifted children/UfdHTa dlcid
2. Physically Handicapped children/IRIR® G{&FHEIT@[%W
3. Mentally Retarded children/aHR® ¥0 ¥ % d1Adh

4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/G“CIﬁTﬁ Tt

30) Method use for educating hard hearing children is:/ WW&?[W%
o Suat 1 ¥ Rueror fafy o= 3t 2

1. Manual Method/ﬁﬁﬁl
2. Sign language method/fa=g HTeT fafdr
3. Aural Method/%dur g fafe

4. All of the above/EﬂﬁTﬂ Tt

Correct Answer :-

« All of the above/3JtRlad G

31) Crying is related to: / 391 fHad Hdfta &
1. Language /49l

2. Social/ JMHINIS

3. Emotion / RLRIREE

4, Motor / TTATHD

Correct Answer :-
« Language /HIYT

32) Establishment of Creches is in which year:/ wwﬁw%ﬁﬁgﬁ
A



1. 1982
2. 1986
3.1977

4. 1989

Correct Answer :-

« 1977

33) Change in development is? / faora & uftad= g4 &2
1. Qualitative change/ TOIT&® YR

2. Quantative change/ AT H XIATHD

3. Creative change/ T&-THS URTd
4. None of these/ 370 ¥ &g gl

Correct Answer :-

. Qualitative change/ o URad—

34) Necessary factor for cognitive development is:/ mm%g STdgh

?‘lﬁfﬁ?ﬂ %:

1. Sentiment/ddeA

2. Meditation/ IERE

3. Logical/ aifardr

4. All of the above/ IuRlad g

Correct Answer :-

« All of the above/ SWRiad g+t

35) Chromosomes are related to:/ TR fHad Tafia gid 8-
1. Respiration/ R+

2. Reproduction/ UsH4

3. Transmission of Heredity Character/ 3fdifRie U BT RIMIAR0I

4. Digestion/ UTd-

Correct Answer :-

« Transmission of Heredity Character/ S@WEU?{W I BIRELY



36) AIMS of PRE school education is:/ d rdfire fRuem &1 w1 539 &:
1. Healthy environment/ Xa¥ qrdrarul

2. Aesthetic sense/ g &t

3. Intellectual curiosity/@m?@m

4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIad gt

37) The ratio of new born child face & head proportion is:/ Hﬁﬁ'ﬁﬁl‘&l%aﬁ’
a1 iR Ft Mens A fpa=m srgura giar 8:

1. 1:8
2.1:9
3.1:10

4.1:11

Correct Answer :-

« 1:8

38) Among these which is not classification of exceptional child: / fadas=
fafry arere &1 i 98 §:

1. Intellectual actual/Sifg® eem
2. Motor/TH & faeeH
3. Sensory Deviance/dad! fdaeH

4. Child welfare scheme/sTd &edT0T IR

Correct Answer :-

« Child welfare scheme/dTd &edT0l TS

39) Which are the activities of WHO:/ Flg & ¥ WHO 9} &1 t ifafafRm &
1. Environmental health/uafarofig @
2. Development of Men Power/HTHd ifad &1 fasmrd

3. Prevention and control of Specific disease/fafRme I &1 ARy Td =0



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad Tt

40) Learning capacity of children in preschool is based on:/ qﬁwmﬁiﬁﬁ
HrE= @ erwrar smurfid 8-

1. Personal based capacity/ fGaTd TR =T

2. Syllabus based design/ IedshH TR T

3. Government based Programme/ STTH1Y eTRT HTdHH
4. Teacher Based Capacity/ fRiefd& 3iemd &wd

Correct Answer :-

« Personal based capacity/ SafadiTd TTRT a1

41) National handicap organization is situated at: / JPII fa@aiT ¥R Ha! R

T
1. New Delhi/=s feweit
2. Mumbai/4as

3. Dehradun/éé?lgﬂ
4. Calcutta/dIaddl

Correct Answer :-

« New Delhi/7s faceht

42) What is the concept of leaning?/ J@A &1 ared 1 gIaT 82
1. Change in emotions/ o & gfgd

2. Change in feeling/ &lﬂ?ﬂ%{ﬁm

3. Permanent change in behavior/ Wﬁ@ﬂ'ﬁqﬁaﬁ:{

4. Change in Aesthetic sense/ Tied Sy & ufkada

Correct Answer :-

« Permanent change in behavior/ agR H RT3 gikad

43) Need of protection is:/II&Ul P ATITHdT HI gl 8-



1. For Development/ﬁméﬁflﬁ

2. Emotional Maturity/Soid® gRuaad
3. For Adjustment/W@G{q%ﬁﬂ

4. All of the above/JWRIe T+

Correct Answer :-

« All of the above/IWRIgd I+

44) Protection of child rights is related to:/ ITd 3fY®ERY I v&T fFrad Jdfia gt
&

1. ICDS
2. ICPS
3. NACO

4. UNICEF

Correct Answer :-

« ICPS

45) What type of emotions in children are:/ STd®! & HaT fHg UHR & gl ©:
1. Absent/ 3FURIA

2. Permanent/ Rﬂ'sc

3. Imbalanced/ 3rEqferd
4. None of these/ gﬂﬁﬁaﬂéﬂ"{ﬁ

Correct Answer :-

. Imbalanced/ 3Rigfera



